
 ar span i
WrittenHwis due41g Eglin

lasttime

A 5 74
7 28,1218,38
73 810,24 Eigenvectors

Quiz on 7.17.3 411 8 s with tilliiisina.me 4

Eg7.5 14,20
7 1 68,70
7.4 4,34 Itt 4g

C

YEAAHH
we

Ingeneral phase portraits for 2 dimensional dynamical systems

É if
X da l X i d o l d de 0

the Dynamical System Ilttl Att and Xo I
a Itt Att
b If A has an eigabasis Vi in with eigenvalues too da
then for I Grit tent Ict Cixtritcaket tonto

EgMini reb ÉPÉE57.4 ext

at o af 1 staring.fi gg



Def a I EIR is a distribution vector if i componentssun to I KE
ii all components 20 Xiao

6 A squarematrix A is a transition matrix if every column
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